[image: image1.png]1/3-13:3300E7]

B~

7-~ S5 =

3. Giventhat 67 x 112 7504, wrie down the answers for

o s (D

b)7504 + 670

2z ©

IAEH,

10 is bought 140 and sold for & 30% profit. Caley
10Z = &4 g &
30Z= R0 = £%20°





[image: image2.png]imber (d) answer:
Flo Edt Vew Insert Format Draw Help

%- 2& £6o+Elo-50
o '& < £3 =£7%:50 ©
5% - £F50 .»_‘(wa‘abﬁl’tju
Q5% =£050 e @ ¢

o 6-az0
% >

2. 0 =@Xo
4o oo

Grow Page

= Skele @

ST

[Attachments

(0

-

@) start] (5] number () - Microsor .| Namber (@) answersa.





[image: image3.png]1. Albert and Ethel share £240 i the rato 3 . How much does Ethel
recene?

3t5<8 (O

£240+8=F20
Ethe| = Sx£30= E.ISOG‘@
IS0+ 3= Sokm in J2 hoor
Q¥e= o km[h

@

3= =0
0&(|So . %_-— ls;x% =% )





